m“ﬁ GRIP / MOUNTING BRACKET FOR AIR NIPPER

B Y Line Clip MGMHC I—N
V
0 O o
G o
H e
M
4-K Through hole L
;=)
&
Y 2—K
ol
- ol a >
2y
6 ¢
BB
c AA
D .
ot ™
T Waterial | 63 Surface eatment_ | ¥ 12207 o s o s s Doutl acon 02505
Aluminum product ‘ Anodizing @Wﬁenugmemng,thegapwscomruuedtobe\essman1mm. Single action 0.1~0.6
(® The surface is anodized, and the color of the actual product may vary from the product picture.
Part Number
Type Cylinder bore | Mode of action - — = 2l € e = 2l = . £ . / .
S
16 ' " 39 | 236 | 162 | 15 | 446 | 306 | 625 | 22 | 226 | 16 4 7 7 24
MGMHC (S|ngIeDact|on)
20 |(Double action)| 45 | 27.6 | 21.7 | 18 | 552 | 42 | 787 | 32 28 20 5.2 9 8 30
Cylinder bore K L M N (o] P S T U \' w X
16 M4x0.7 34 10.7 M4x0.7 16 M3x0.5 M5x0.8 M5x%0.8 7 18.3 8 13
20 M5%0.8 43 15.7 M5%0.8 8.6 M4x0.7 M5x0.8 M5x%0.8 7.5 222 10 15

7 Part Numb . .
lgomer ‘W 'pl wene |Quotation P|= [Quotation

H Mounting Bracket for MSMBM
Air Nipper 2,

ik

S O

[ | f R f

i

f
|
!

J
[0 Material \ B Surface treatment
Aluminum product ‘ Anodizing ® Only suitable for Parallel Grips.
Part Number Weight
A B C D E F G H | J
Type No. (9)
10 32 6 2 23 16.4 12 18 14 4 M10x1 5
MSMBM 16 42 7 3 30.6 23.6 15 22 15 5 M12x1 10
20 515 7 4 42 27.6 18 32 15 5 M12x1 14
7 Part Number E |
Order MSMBM10 ex Xample

-al t%agliip Quotation wswen ~_ ot
. MSMBB\';;‘&

P rice  |Quotation) Y |
‘ 4PACK—MPEP —




